QA= UTaR I E D S

KHAITAN POWER

EXPECT THE BEST

KP ESG

ELECTRIC SPRAY GUN

EXPLOSION VIEW [




o= U

A\ S U

KHAITAN POWER
EXPECT THE BEST SPARE PARTS LIST OF KP ESG
NO. PARTS NAME QTY NO. PARTS NAME QTY
1 Locking Nut 1 52
2 Change nozzle 1 53
3 Fixed nozzle 1 54
4 Valve Needle 1 55
5 O-Ring 1 56
6 Spring 1 57
7 Gun Set 1 58
8 O-Ring 1 59
9 Wind Deflector 1 60
10 [Motor Damping pad 1 61
11 Motor 1 62
12 |Filter 1 63
13 [Housing Cover 1 64
14 |Cable 1 65
15 [Right Housing 1 66
16 Screw M4X12 1 67
17 Button 1 68
18 Spring 1 69
19 Switch 1 70
20  |Switch Pole 1 71
21 Spring 1 72
22 |Capacitor 1 73
23 [Terminal Block 1 74
24  [Cable Sleeve 1 75
25  |Adjust Knob 1 76
26  [Spring 1 77
27  |Trigger 1 78
28 |Pin 1 79
29  |Airproof Washer 1 80
30 [Sucker 1 81
31 Container 1 82
32 |Left Housing 1 83
33 [Cable Clamp 1 84
34 [Screw M3X12 1 85
35 Seal Ring 1 86
36 Screw M3X8 1 87
37  |Locking Block 1 88
38 Screw M4X10 1 89
39 |O-Ring 1 90
40  |Funnel 1 91
41 Brush 1 92
42 |Open Needle 1 93
43 F101
44 F102
45 F103
46 F104
47 F105
48 F106
49 F107
50 F108
51




